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ELECTRIC DIPOLE PLACED IN AN UNIFORM

ELECTRIC FIELD
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What is the total force acting on the dipole?
Zero, because the force on the two charges cancel:
both have magnitude qE. The center of mass does not

accelerate.

But the charges start to move. Why?
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WHEN AN ELECTRIC DIPOLE PRESENT IN AN UNIFORM
ELECTRIC FIELD THEN IT EXPERIENCE ZERO NET FORCE
BUT IF IT IS PLACED AT SOME ANGLE WITH ELECTRIC
FIELD THEN IT EXPERIENCE TORQUE.
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| ORQUE ON ELECTRICDIPOLE IN AN UNIFORM ELECTRIC FIELD

CONSIDER AN ELECTRIC DIPOLE 43 OF LENGTH ~/AND CHARGE
AND +c PLACED IN AN UNIFORM ELECTRIC FIELD OF INTENSITY
AT ANGLE 8 THEN IT EXPERIENCE TORQUE, WE HAVE TO FIND
TORQUE.

PERPENDICULAR COMPONENT OF FORCE ON CHARGE AT A AND
CHARGE AT B PRODUCES TORQUE.
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